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MTH 95: Intermediate Algebra

Solving Rational Equations I

1. Solve each of the equations for x, using algebra (no calculator)

) 5 _ ODenomsS:eX
M LD (<)
Cx‘jccsx,)'}z(x\(q3
5: x.? C\QCk—\.
S .
e 1,8
9 6 _ ‘Densrms: x|
2x+1

LeO: Cawsar)

(x> ————:(O: = (2=« )Cx)
= 2xF+x
O = Zx * X"'CD
Vs /2 5 = (x+2)(2x—3)
(\/\&M xXx==2 cr XK= 2_
e) =x+1
x+2
L*«r?- ——"‘ = (xn\I(x+ )
C., = Ty 3x 42
O = 'x +3Ix-"
O = (x+NV(x-)
xX= - or X?(
y 3 __S
& x+2 x—8
S
(x+ ) (8) Txrd) © Gt (rexr ()
Y-8 = SCxx2)
Zx-211 = Sx o
-1x = 34
x = -3

Instructor: Alex Jordan

Winter 2020
5 |>Q('\0M)’- w4
b 5 =7 LeD: (2D
Cp_;,_) ) . (x+D(A)
Chech-!,
5 = Fxsi
—A= Fx
-a_ _
?— - 7(
4 4 — 5 Del\or'\‘:'- K"}
x—=3 Led = (x—3)
(L‘\ %-3) (<)
2 ek Cy%%
bt q = x’——zx
Clect O = x*-3x —H
b O = (x-O(x+1)
12 X=H or X""\
Dz =x°
(x12) C‘::} N> (- (xx1)

L= X —-""K"\a
o= ’7<2— -—3Fx —30O
o = G = WD)

xX= 1O o X=—13

h)x+9=§
x—2 7
() _ 5. N
TN Ey = F 76

?,(%_‘_q} = SCX—L)
Fxt63 = Sx —\O

2« T3
2



MTH 95: Intermediate Algebra Winter 2020

D x+1 x+4 i x+1 4x+18
x—3 x—2 Y o2 T 2x+31
Tl saebea sk o oTh sk sk

éss. . ?\/57:3

2. Do you understand that in each equation from the previous exercises, each side of the equation
was one of the following?

* Arational expression

* A polynomial
Yes !
(Yes or No)
. . . . . 5x +2
3. The size of an insect population (in thousands per acre) is modeled by P(x) = 1 where

x is the time in months since April 1.

a) Evaluate P(3) and interpret the result with a sentence in context.
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b) Graph P using your graphing calculator and zoom out a lot. What happens to the insect
population in the long run? Give a sentence with context.
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c) When will the insect population reach 4.5 thousand per acre? Solve this using pencil and
paper only. Then write a sentence with context.
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d) What is the domain of this function P? There are two things to consider: the algebraic ¢
restrictions on what would be a valid input for the given formula, and the restrictions that <™
have to do with the context of the problem. There is more than one “correct” answer to
this question, but be sure to use interval notation.
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MTH 95: Intermediate Algebra

Winter 2020
Solving Rational Equations II
1. Solve each of the equations using algebra (no calculator).
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2. In still water a tugboat can travel 15 miles per hour. It travels 36 miles upstream and then 36
miles downstream in a total of 5 hours. Find the speed of the current.
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